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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST IN THE MANUAL OF FIREMANSHIP
FOR OFFICERS OF TAMIL NADU FIRE AND RESCUE
SERVICES - FIRST PAPER

(Without Books)

Maximum Time : 2 hours Maximum Marks : 80

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qarar@M euems edlarmsgmer
Read the following instructions carefully before beginning to answer the questions.
enmés@Epss ellm_wealés QeT_m@b (et SpssamrL 2ihla|mremer SeUaTOTS Ly &&HaLd.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
@65 Memssdla e urdamear anigmgsald, @pastspu Coemeuliger Guem
uradlenflen eumT&ens s (EhDd L MiELD.

This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.

Aps dams@sr@ldmer  sansrafliiurerflen  ieind GCupeusnHE e  Snéssalg.
sawsraiuurent ellamsbgn@lifamen dnliusn@ a@iwd algsea) e ellamsbdsreludaa dnbal
cllep_weflss Agmrisemb. '

This question booklet contains 80 number of objective type questions. Prior to attempting to
answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, - within first
10 minutes after which no request will be entertained.

@eaefamssrer 80 Qendig euma eHamssamer GQaram gl elamamiugnyiadr oflenLwaflées
QMg e, edarrggraiier erever afamsaeErn @b Aupmieterareur aratumSL|D, gGsa@Ib o
ussmgear / elamssar FALOULTDO eNEUL(aretanar sreU@sLD NUTTSEE Carererayb.
amssrafled gCsayb @amn @nuler clamagrear Qupp Ger LS BB RSEREGT @D
samarasiiuuretiiLb Qgfelss Cauar®b. <isnE Yne Qsfllelsstiu®n GCerfsmassr ggib gnms

QamerariuL o’ L gy
Answers all questions. All questions carry equal marks.

Smeansg ellamssEps@h el ualss CouamrBb. Amagg) aflarméa@end Fwowrar wHibluemseT
QarenTLenay.
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Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.

Aemantiugyiler uHCeuameaan Geelamssraier Cod aiwg LUEESSD D5HEsea @gda;a;u UL (Hemer
@ &8 erps CauamBib. eflanrssraied Goupl erengu|ibd eT(LSS sol TG

The sheet before the last page of the question booklet shall be used for any rough work.
clammssraiar samLd LaasSDE@ (e ussgdd rough work erapdl untés e LGWLTESES GaneTearalb.

(a) Bach question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
~ correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(a) qeaGeaurm elamalped (A), B), (C), (D) ear preng ol ser GarEsiul (Hareng.
eflamrenriugTyT Seupiled gCsaub e sflurer dlamLamwus Csie) Celiw Cauar(Hib. QemisE
GupulL sflwrear edeLsdr @m edamalng QmUusTs smHamsd, euphld edeflaL Wass
sflwuneng eran smEdPirsCert, seueleLamw Hlipall B s Geuer@i.

(b)  eruaunlmLfan, e dlameinE ¢Cr e daLmus srar Caibdshiés Coua(ib.

© e Namdpe eamsg CopulL el msald o welssiiulgmpsrd el
SUPTAISTE SHSUILLE, SeueiarmeineE williduer auprisliuLLrLrg).

(d) OMR e&fenrg srafler @hssiulL sfwrar ellensemert Qurmdg), Curss wHLGUETSsET
aums ILED (m edamelnE e el L (@Hundlr) fpdlL elaL wl GG wlEua
auLpmIs samdsler ar(HSgs Qerarariu@ib). '

Do not mark the answers in the Question Booklet.
eflenissraie efenL_senerd @GO S sal_mg).

Candidate -shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

eflaramringnyi, elamgsreilar g @ usss@awd, Fastoar dwg dfssCar smrg. Csirey
peLQumib Gurgl, elamsgrener Coirey sl samgalll B QauallCu a®és Qsie <igws eﬂsm_urr@
Ceiray Qb GenanCry el e smener er(H&81F Q566 ienilEsiuHeur.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.

Cupsar.  @iflejemrseid gCsaid Bpuu@Cuurame GCsiaurmarub aH&GD s mer /
BL 6y &G o atermas CH[HLD.

In case of doubt, English version is the final.
afenmésafled 66Cs50 w6, @ mde ey eld Qar@asiul_Berer clamssCar @niSwurang.
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1 If External pressure is decreased, what happens to the boiling point?
AA) Decreases (B) Increases
(C) No changes (D) (A) and (B)
Qeuafiliyp <ipssDd GmphsTd dardBlaeuid ghudb WrHDW eTee?
@) oo B) ofafsed
(C) g - (D) @A) and (B)

2. What is the Vapour density of Methene?
(A) 556 w 0.556

(C) 1.556 (D) 10.556
B5Caar aumjeden oyl iLTHS ereen? |

(A) 556 - B) 0.556
(C) 1.556 (D) 10.556

3. Which of the following gas has odour of rotten egg?

AA) Hydrogen sulphide ' (B) Nitrous oxide
(C) Phosphorous sulphide (D) Carbon monoxide
EpssamLeupile eTgl i(pHw apLlaLuller eamapenL i eumu|?
(A) e gmer seventi() | B) epLlye sy smev(H
(©C) umevuyev soenu®d (D) smiuer Gurenmésans(h
4. Which one of the following is not an oxidizing agent?
(A) Oxygen (B) Nitric oxide
VvAC)  Chlorine (D) Hydrogen
Spsaaeundle ergl 2, saflsCearnpbl e ?
A) ysellgen ; (B) e s psms®
C) @ECarmler (D) eant rmenr |
3 029/DD/19
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B. Which one of the following substance has very high specific heat capacity?

(A) Mercury (B) Glass

\AC) Water (D) Copper
t%g)ésaaﬁ&trn_a.l[b@@ <88 sanQeuiL goLglnar i Qareim_ GummeT 6rg)?
(A) umsysid (B) semewa
(C)  semmentm D) smaur

8 Which one of the following material fire can be extinguished smothering method?

A) o1l (B) Paint

(C) Petrol VAD) (A), B)and (C)

Epsem ér‘rjr,g; Qurmefled & efugsm gpuGb Curg Sow epds Hamped perpulie
SiemeansslILH S ns)?

A) <ule (B) Quuien

(C) QuiGma : D) A), B) wpmb (C)

=4 What is the Specific heat Capacity of 1 Kg Mercury?

(A) 1800 J/Kg'c ~ (B) 2800 J/Kgc
(C) 5800 J/Kgc AD) 140 J/Kgc
@ HGer urgregglen genbleuliu oL Fmefler Sl eremen?
(A) 1800 J/Kg'c (B) 2800 J/Kg'c
(C) 5800 J/Kge (D) 140 J/Kg'c
8. What gas will be produced when Alkali metal react with water or steam?
\AA) Hydrogen ' - (B) Oxygen
(C) Nitrogen ‘ (D) Carbon
psned Gl L dsar savam oeeg Brrefuyer ellenar Lyflub Curgy Geuaflud LiL(id
eumy 618 ? 2
(A) aap e (B) <ysadigen
(C) eBlymer (D)  smiuen
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9 What is the vapor density of Atmospheric air?
A) 85 Ap) 144
© 1 D) 22
auefl were smhbler el i THS) ereme?
A) 85 B) 144
© 1 (D) 22

10. By which means heat can be transferred?
(A) Conduction (B) Radiation
(C) Convection vAD) A), (B) and (C)
abs epude Qeauliuib sLssLEEDS?
A) Qeudiu sLgsed B) Qeulu sdirelga
© Qe seend : (D) (A), (B) wpgid (C)

L1 | What is Soft suction?
WA) ‘Delivery hose used on the intake side of pump
(B) Delivery hose used in the hydrant to fire fighting
(C) Delivery hose used in the fire ground
(D) Delivery hose used in the rescue
FTUIL FECVET EGTETLIS)| GTEIET?
(A) B efl@ Gurimer Ll GarCLé LEHYTD LLETLESSISD
B) S Gpriamer eanl e o LuaUESS Sumarsse
(©) i OO @pridvan § Bopel 480 LuETGHHES
(D) ;_%rr a9 @erleearn B uanfléE w6 HEsSe

5 029/DD/19
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12. What is a yarn?
(A) Individual fibers WAB) Twisting the slivers
(C) twisting the Yarns (D) Another name of line
WIMTTT6HT 6TEHTDTEY GTEHTEH ? ' ;
(A) seallssafwrear priser
B) salsgaflwmer prisemsr Gelflavig i Qelgrd deoLlug
(C) - wrirenseer Heflev Qawig) Hev LG
(D)  sulpien Gen@enmm QUWIT SpELD.

13. What is the length of escape line?

(A) 40 — 50 feet (B) 100 feet
WwAC) 15— 20 feet (D) 130 feet

areiv et enavafian famid araran? ‘

(A) 40 —50-=ig (B) 100 =iq

(C) 15-20 =i : (D) 130 sig

14. LPG is odorless and colorless for the safety to identify the leakage of LPG what is
added as stanching agent?

QAA) Mercaptan (B) Methane
(C) Ethene (D) None of the above

LPG -g@ fipwbm whmb warnpn airy. eaGe Qs sflame ieLwimerd STETUSH(ES @Q FHETL
eThs Gumper LweTHSsUILRS DG
(A) QursrlLen . - (B)  85Csen

(C) msCGser (D) ggfoama

15. What is the safe working voltage of rubber gloves?

(A) 40000 volts (B) 8000 volts
~(C) 15000 volts D) 3300 volts
TUUT &I enen LTgISTUILINS LweTu Hisgib CauraL eraiauera?
(A) 40000 volts ' (B) 8000 volts
(C) 15000 volts (D) 3300 volts
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16. * What is the minimum breaking load of 2” size Manila rope?

AA) 2 tonnes (B) 1.5 tonnes
(C) 3 tonnes (D) 4.0 tonnes
2" syerayarar wesller Grminder eappsul s 19Crs8mn Can® eaiauare)?
(A) 2 Lenser (B) 1.5 _anger
(C) 3 Lamsar (D) 4.0 _enser

17. Why manila is most preferable for rescue work?

(A) lessexpensive (B) water proof
(C) " softness VAD) (4), (B)and (C)
Byl uesflsafle weasllor sullny eer aflmbuliuBEng?

(A Aees Gopey ; (B) i U L nhsenenis
(C) Quenenio geento D) @A), (B) opmib (C)f

18. How is Shroud laid rope made up?
| (A) three strands laid together WAB) four strands laid together

(C) two strands laid together (D) yarns plaited around a central core
Shroud laid rope —ertiLig 2 (Heursdlwig)?
A)  apery @anw ppisEsaTTe FilssiuHeig

(B) e @ow wnsEserme SilsaliLbes)
©) Qe @enp apnsEserte HilsslLBeug
D)  oparm @enipuiid i BG Gy Gsrar® HflssuuBas)

19. What is the overall length of Fireman axe?

Q) 18 ) 15
vAB

(C) 207 . D) 127
vwirGuoer uéev Qonss Hemb ereme?
A 18 B) 15
€ 20 (D) 127
7 029/DD/19
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20. Why synthetic Nylon hose mor-e preferable than natural fiber hose?

(A) Rot resisting fiber (B) Light in weight

(C) Great in strength | ) wD) (A), (B) and (C)

géar Qewpes @ BT apane GanrasdT Gunas Gep BT Capmavsmereil igsibd
eSlmuliu®Eng? F

Q) Qe pri flevgwing B) @onps <iere, e

(€) éé)as <Siate] 2 Mg ' (D) (&), B) wpmid (C)

'21. Expansion ratio of Low expa_nsion'foam

wAa 2:1t020:1 (B) 200:1t02000:1
(C) 5:1to15:1 (D) 20:1t0200:1
Coorr er&eGuLisitgen CSum.:o eflfleunss ellSlsib eramen? '
(A) 2:1t020:1 (B) 200 : 1 to2000:1

(G H:1tal15:1 (D) 20:1t0200:1

22. What is the expansion ratio at nominal pressure of FB5x MK II model?

WYA@) 10:1 B) 81
(C) 100:1 ‘D) 20:1
FB5x MK II cuns meny flevar @ipmuies Biam@ssinn L sipssssle e farss elfsi erdieuaray?
@A) 10:1 ®B) 81
(C) 100:1 D) 20:1

23.  Which fire extinguisher is the most effective gaseous extinguishing agent?

(A) Halon 1211 . WAB) Halon 1301 :
(C) Halon 1202 (D) Halon 1011
eilur@ gyl aums SweaiL snpedlsaia Wsa)b Snayeterg cgi?
(A) aenmever 1211 : _ (B) emmeverr 1301
(€) ammear 1202 (D) ammear 1011

029/DD/19 8




24.  Why Halon type extinguisher should be phased out?
(A) It conducts electricity (B) Re-ignition chances is high
NC) It destroys Ozone layer (D) It leaves more residues.
A TEET GUanE SWenanTLIL| &(hellseT aer aupsssdle Q) mhg isppUUL GauamHib?
@A) Qo JaCamiL sms sL_5518ps)
B) Ban®b & Auss THUL aumliiy HSsb o drerg
C) @a eCsrar Caweny f&dng
D) @a sifls searelie BFgsamg AL G Qsodng).

25. What distance the jet of a portable pressurized water or foam extinguisher can be

reached while operating?
AA) 20 feet | (B) 12 feet
(C) 18 feet (D) 24 feet
s maussILL L el LiT Sieveg Cub euems erafldld ar(Rs5 Qadadsiyw Swuaman iy
smeilulen Bissreny erelalarte| TSNS e WjD?
@A) 20 ogser B) 12 sigser
C) 18 wugsen | D) 24 wigs6r

26.  Which one of the following is called Multipurpose dry chemical?

(A) Sodium bi carbonate (B) Potassium bi carbonate
(C) Potassium Chloride \AD) Mono ammonium phosphate
Spaam_ eupdles Multipurpose dry chemical eren wienpssiiu@eug) erg)?
(A Cemgquwib et smirLGe ' (B) Qur_Lrflub ey sriuGern
(C) QurlLmflub gGarmenyL ' (D) CunGesr <ybGuwmefluid urevCui’
9 029/DD/19
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217. Why.saf'ety clip is provided on the fire extinguisher head part?
AA) To easy handle (B) To carry the fire ex‘tiilguisher
(C) Prevent accidental operation (D) Tofix the extinguisher on the wall
Sweaniy smelllar smauesuio Calig el ashe unmssILOEDS?
Q)  erefgs LwuaL DS B) Sweami9Gomar a®ss Qs

(&) g@ug;é,eurrm Qusssdlamen 5H&sS D) Bweenrin9ulienen saUpBIS Qun(mss

28. How much vapor is produced by 1 kg of carbon dioxide in its liquid state to gaseous

state at atmosphere pressure? s
)  05m3 : T (B) 1.0 m3 .
(C) 5msd (D) 2m?
euaTLDEBTL 60 g{@g‘g,gglsb 1 &Gem emiuar el g danav( Sreu Hlavauledmms el Hlanass
QeavabGuTg) ereuaiete] efllllamar CeuefiudB&lmg?
A) 0.5md B) 1.0 m3
(C) 5m3 _ D) 2m?

29. What is the nominal flow of the foam making branch 10 model?
(A) 230 Um V\B) 4551m
(C) 910 Vm D) 225m
Guib Guédik Qe oL L 10-dr QauafluSH Hpar ereueuenay?
(A) 230 Um B) 4551m

(C) 910Vm (D) 2251Vm

029/DD/19 \ 10



30. Which type of foam concentrate is used in the medium expansion foam making

branches?
\AA) Synthefic (B) Protein
(C)  Fluoro Protein (D) AFFF
WBigwid erdevGuansenr Gumbd Guadlm Gyrers enuibed Grﬁ)g QUENGSIITGT HIEDT HE0ENG
et HEHng)?
A) Apsns B) yCrmiiger
C)  yesGrm yGrm g e (D) AFFF

31. What is meant by “Extending” a turntable ladder?
\AA) Increasing the length of ladder
(B) Reducing the length of ladder
(C) Raising the ladder from the gallows
(D) Lowering the ladder towards gallows
Turntable ladder—é Extending erémugern eflengaid eramen?
A) gl 2 ugsms sasfsse
B) gl e Lursms GEODESD
(C) CanCameuatler Qmbg aanfluflanar o wWTSgSH
D) CanGareuednE eeantluliener @madl Clsmer(h eumzen

32. What is meant by “Depressing” a turntable ladder? ,
(A) Extending the length of ladder (B) Reducing the length of ladder
(C) Raising the ladder from the gallow (’[% Lowering the ladder towards gallow
Turntable ladder— & iqplienl i erentLigenm aflenésLd eraen?
A) gamilder 2 wrgms AHlafsse |
(B) gafller 2 wrgens Gmnssh
(C) CanGameueriler @)mHgl eramntludlenem o 1LiTeg)He
(D) CanGereuallpe Gmbs aamfloman @néd denar® eumse |

11 029/DD/19
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33. What is the loading capacity of the Hydraulic platform?

(A) 500Kg WwAB) 408 Kg
(C) 600Kg (D) 300 Kg -
eanL_yredld [Qemm_Limiiller Srmbi@ eTenL crebien?
(A) 500 Kg (B) 408 Kg
(C) 600Kg . (D) 300 Kg
34. Hook Ladder is made up of ; Metal?
(A) Gun metal . (B) Brass
(C) Iron AD) Aluminum alloy
an©s geanfl ———— 2 Cav nesgg,freb 2 (HEUTSSLIULL g
(A) @6 QwolLe (B) ﬂggmﬁr

(C) @amby D) ogdeiub e

35.  Pitch - Command refers to what while using ladder?
. (A) Remove the ladder (B) Extend the ladder
wC) Erect the ladder against wall (D) Lower the ladder
genflenw 2 LCWrlEEn Cung LwaTURSSLLMHDL & — erenm 2 ssyellen eleTdsd ereme?
(A) gef SIEDMSE0 B) gaflew Fiqs5560
(C) gefl flener seunmiLen HimiSss0 D) gaflaw Qnsgsd

36.  Centrifugal pump has

(A) Valves (B) Pistons
(C) Plungers Ww’AD) Impeller
Qe _Mblused Lbl 2 L6 @) wUueameu?

(A) eumévéusv (B) WYevLebreiv
(C) WYeregraien (D) @wuerr

029/DD/19 | _ 12



37. What is reason for decreased delivery pressure while working?
(A) Bursting of length of delivery hose
(B) Hand controlled branch pipe is being opened
(C) Adjustable nozzle is being opened

ﬁD) (A), (B) and (C)

Ll Geuanay Geuig) Qamar(Harer Cumg) SleQreTn (WSS &TTERTLD 6Tesen?
A) GQralleufl Gapradled grmul L Qauig iy
(B) Canewrt_ saw Cpme Grmesd Sippg Lentlurhnige
(C) eilgmevl et préleve Smphg LentwumHHEE
D) (&), B) wpmid> (C)

38. What is the inside width of the strings of Hook ladder?

‘AA) 9 Inches (B) 12 Inches
(C) 8 Inches (D) 10 Inches
an®s Caor_Med 2 amer avigfmcvseian Gw o eTLiGHWlen Dised eraan?
(A) 9 @eeraaen (B) 12 @engpean
(C) 8@ angpsen (D) 10 Gergnaen

39. How often Ladder has to be tested?
(A) Every month | (B) After used at the fire ground
(C)  Once in six month vAD) (A)and (B
ganfl crésauaTe, STesSHE GMmApon CerdssiLL CouamHb?
(A)  wrEd SO (@D
B) §uss evgesde uaTuHESIULL GDEG
(C)  BuLissdibG @O (oD
D) &) womd (B)

13 029/DD/19
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40. _Stirrup hand pump is an example for which one of the following types of pump?

%A) Bucket and Plunger pump (B) Lift pump
(C) Force pump (D) Rotary pump
vl Canawrl LbLI SPSE@TL 6ThS euansLTer LA HE 2 gmyeann?
(A)  UEGSL HMb Garers LibL) B) S Lib
(C) Gumrew LD D) Cprirf ubl

41. If the human body is in rest in the bed approximately how much Oxygen would be
consumed per minute?

AA) 0.237 Liters (B) 2.7 Liters
(C) 0.6 Liters (D) 4 Liters
waligen  UBs@sWd guers  @MEGLCUTE  adleeey  sedigar  HULEEDG
CoenauliLi(Halma? ' ' .
(A) 0.237 Sl_Lfraser B) 2.7 SiLiser
© 0.6 aSh'_u‘reseiT D) 4 S Lizer

42. ~ What is approximate composition of Nitrogen in the atmospheric air?

A) 3% - B) 20.93%
Ao  79% (D) 3.03%
euaflein_ev sTHHIIETET enBL_FI6H D66y 6TET6n ? :
A) 3% _ . (B) 20.93%
C) 79% D) 3.03%

43. What is approximate composition of Oxygen in the inhaled alr‘?

Ay 2% B) 16.96%
€ 12% . (D) 19%
waflgern seurdlsEbCLng 2 dreflpasiu@ib sTHM 2 @rer ydedln6m Si6mey ereueuaTey?
@ 21% B) 16.96%
©) 12% D) 19%

029/DD/19 | 14



44.

45.

In the standard line, If the wearer signals three pulls, what does it mean?
(A) Iam all right (B) Stop lowering
AC) Haul 1n slack line (D) Danger help me
meven Slsaradley samfipgieTareufiid Q@mpg epam pen QpsSEL FOEH®S eHamar
GBI g
(A)  mren sflwins o erGere B) dpeuens flyssan
(C) serieuna o erer sudpilener @) D) swmnugde e arGarar o seasalbd
What procedure should be followed on the spot While wearing BA Set?

(A) Check if Cylinder has not less than 80% of capacity of air
(B) Must be donned in fresh air

(C) Personnel are to work in team of at least two

D)  (4). B) and (©)

46.

ap&sssmedlenws LweruRSgnCung Werunm Ceuarmgw eulflpampser wrael? - -

(A) @oéré; smedludler smpy QY Qwrgs Qamararetelier 80% Gemuimoe @)(mHLiL| 2 arersT
erenm SanrLHlge

B) . snbemwwrar srHle epés smelulaman oieflge

©)  sweanrs QeuduBso GoDHESS @ram® Cum

D)  (A), (B) wppu (C)

How much liter of air is consumed per minute while doing heavier work such as
ascending an incline or running?

(A) 40 Liter (B) 20 Liter

(C) 60 Liter VwAAD) 100 Liter

shewwrear Gaumea igTeugl Lo gnss owg ebhse Curameipdear Cuns aaeare,
srhm seunflssedler Gumg o dreflpssliuGHng?

(A) 40 el (B) 20e0 L

©€) 60e&lim (D) 100 &8l

15 029/DD/19
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47 Which of the following material produces Hydrogen Cyanide while burning?

(A) Wool (B) Nylon

(C) Polyurethane AD) (A), (B) and (C)
Sipsam_aupmier eriujb CUIE eant FEe e aanL Qeuaflud(BHibd?
A e B) enmemen

(©) “unduiGriher © (@), ® and ©

48. Hypoxia refers? . _
(A) Deficient of air (B) Deficient of minerals

'A(C) Deficient of Oxygen (D) Deficient of iron
Hypoxia — erenuig) erganar GnléEsng)?
@A) sy UpPTEG®D (B Harmée LpprE®D
©) yseadlgar UDPTGDD D) Gy unprEen

49.  Which equipments must always be with BA Set?

(A) Distress signal unit (B) Lamp

(C) Personal line - WAD) A), (B)and (C)

apFssamalamul wearuBssib Cung o Ler a(hiés! Qasvar GouamTiq Ll 2 LISTERThISEIT GTeomen?
TA) gevlrad Sdbae weflt (B)  Gaibl)

(C) ufseed enevET D) @A), B) wpmd (C)

50. How much percentage of Oxygen is absorbed by the body while breathing

A) 2% VAB) 4%
€ 1% D) 3%
saurflgzalaGuing araicare] soelldsb sailge 2 Ll ab55)5 Qamerer LB E D).
A 2% - (B) 4%
©€) 1% D) 3%

029/DD/19 - 16



51.  What 1s the maximum Theoretical lift of water by the fire service pump?

w4 10m | B) 6m
(C) 8m & iy D) 13m
Camiur_Lerelley SwementiiLy glepm UL eTeueueTe lpsHelmng samateay GLEaDH
PlgL{iD? |
(A) 108 (B) 615
) &8 - . . D) 138

52.  What is the equivalent pressure of 25 m head?

(A) 250 bar (B) 25 bar
VAo 25bar (D) 0.25 bar

2515 Qan & swwrar DiWESLD eeueleTa?

(A) 250 umi : B) 25 unm

(C) 25umr (D) 0.25 urr

53.  If the fire fighter suddenly closes the nozzle while fire fighting what will happen?

(A) Water stop AB) Water hammer

(C) Water jet 3 (D) Water flow

SwenenrLiy uanflufer Cung Swemanuiert Sle Qe ppSHES GLOML (L iq GTTE) GTETET HL&ELD?
A)  sawafi Hpgb (B) eum’ Lit Gamuwoir

(C) e 7@ D) eumryGerr

54. What is the friction factor of 63 mm dia hose?

A  0.005 B) 0.007

(C)  0.009 (D) 0.003

63 I Lwr Capmedlar 19 &evas GusLit GTEUGUETEY? _

(A)  0.005 B) 0.007

(C) 0.009 g (D) 0.003
17 : “ 029/DD/19
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55. What is the relationship between pressure and head?

wX4) P=H/10 (B) H=P/100
(C) H=P/10 ' (D) P=Hx10
o Wb (Qanl ) LHYID iS5 QeupMésdamLGw 2 drar 2 ney eremer?
(A) P=H/10 | (B) H=P/100 '
(C) H=P/10 (D) P=Hx10

56. Define — Ejector pump.

(4)
VAB)
©
(D)

In which water is moved by the spinning action of pump impeller
A pump which lifts water by means of a partial vacuum

A pump in which water is moved mechanically by means of gear wheels

(A), (B) and (C)

Ejector pump —euenywim.

A)
“(B)
©
D)

LibL @bLiaTit siphéluliesmed setmantit GUISSILIHOIE.

o0 UGS QaupdlLrésiiufeasen apatd saait God Curésl @wsse
L6 FEsREeT Qundl sé8ullenmed QUIkiGuSTED Saman T QussIL Gl
(), (B) 0ppis (€) |

57.  Negative pressure refers

(&)

VA
©)
(D)

pressure lower than the atmospheric pressure
pressure higher than the atmospheric pressure
pressure equal to the atmospheric pressure

(A), (B) and (C)

QApaig 6 ArevaT aarlg SRS gman GDSELD

A)
(B)
©
D)

029/DD/19

auaflioaim e Si(WESSHDE GDDUTET SH (PSS
auafloaiT_a Si(PSS5SHE ASSLOTET (PSSO
auafliscin_o @EsEHNE swi0TEr @S
A), B) wppid (C)
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58. How to calculate Nozzle discharge?

\AA) 2K3d2\/; ; (B) 2/3p2\f5
©) 3/2d2Vp D) 3/2p2Vd
BTEle 1 GVETE emellenan eTLiLlg. SamTédl L mb?

A)  2/3d24p B) 2/3p2d
©) 3/242Vp (D) 3/2 p2Vd

59. How many liters are there in a cubic foot of water?

wAA) 283 liters (B) 6.25 liters
 (© 10liters D) 12 liters
(0 Ba1 SGIT 2y Aamarererelled ardganen ol L &6 s 2_dTeng)?
(A) 283 Lt - (B) 6.25 eflLLit
. icaicy g D) 1

60. In Hydraulics — fis denoted as?
(A) Head loss in friction (B) Head loss by friction
\AC) Friction factor (D) Friction meter
ean_yrellgedle) — f—em elleréasind eremen?
(A)  2gmieflen sTyewTOTS 2 Wiy @ipuiL] B) e gmieden sryemions Si(Pss Qi
(©) eogmie sryeni D) e pmueler B L

61. What is the function of beam in the building?
wA) Horizontal load bearing member ~ (B) Vertical load bearing member

(C) It supports both end of the wall (D) It supports both end of the building
&L L S&e b —Lianf] eremean?
(A)  deLl L ors erant_uSlenen sirhi@seD
(B) Qerigssns amL e srbiEsd
(C) Qs sl gdlar Quam() sousEhéE 2 migenuns 2 _GTeng
D)  @s s L s8er Qe paarsEnEdeal G o migmamuns _6Teng)

19 029/DD/19
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62. What is the maximum height of the riser for other than residential building as per

NBC?
wMVW 150 mm (B) 160 mm
(C) 250 mm (D) 200 mm _
NBC — & Ulg. @quﬁﬂ@uq SU LIS ieens sl LLngafld Grienfer Siflsuiquirar 2wy
GTEENT?
‘4) 150 B ' (B) 160 55
(C) 25088 (D) 200 5

63. What is the width of Exit to be provided for Institutional building as per NBC?

w4 20m B) 1.0m
(C) 15m (D) 0.75m
NBC — @ Lilg @)étmaivlg.lq.i,enenred ﬁgéusmréjas@ésg @mmﬂ@mgm auflsaflen isaLd 6remmen?
A) 2048 B) 1.0.8
©C) 158 (D) 0.75.8

- 64. Asper NBC - 2005, Part IV Underground shopping centre is classified as?

(A) E1 (B) D6

() D7 | vAD) F3

NBC — 20056 Uiy ugH [V-6 seréE SCip 2 arer agmiin QeaLit ehs eues SLLLIOME
aumsLiuBSsILHSDS? '

) E1 | B) D6

(C) D7 (D) F3

65. What is the Evacuation time of type 1 construction building in emergency period?

(A) 15min " ~AB) 2.5min

(C) 1min (D) 2 min

2pussTar snamsain — 1 aims s L e AeuallGubmId Coirib eremen?
Ad) 1.5HOb : (B) 2.5 HAlLLb

(C) 1Ablb (D) 2 Al
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66.

67.

68.

69.

How Much area is required to accommodate per person in the refuge area?

(A) 0.5 m2 (B) 0.8 m2
(C) 0.7 m? - D) 0.3 m?
Qryws uESulsd m pumsE GLivallss aeaare) LGS ComauuGang?
(A) 0.5.52 (B) 0.8.52
€ 0782 - (D) 0.3 152

What is the minimum width required for the main entrance for fire fighting vehicles
to enter the premises?

(A) 5m . YB) 45m

(C) 6m (D) 5.5m

sLLLSAD@E Swemeanliy eursaniised Qeda Gmphsulsb UL L Fewe| aimufeer SiseLb
eravcuena| CaeamauiLBd mg?

@A) 58 (B) 4518

(C) 618 D) 555

FD 60 refers?

(A)  Fire door 60 seconds fire resistance (Bﬂ Fire door 60 minutes fire resistance
(C) 60tk fire door (D) Fire door 60 inches length

FD 60 eremuig) ergseven @hlédng ?

(A)  Lwir G 60 Qesat 6 vwi QyedlevLeren

(B)  wwi Gt 60 Bl b Lwi QredlavL_sien
©) 60-eug Lwiir G
D) vwir Gumi 60 ey Hard

Which is sandwiched between two sheets of steel sheeting or aluminum - alloy
sheeting on the wall or roof cladding?

(A)  Polyiscocyanurate (B) Polyurethane
(C) Zinc WVAD) () and (B)

e levegl sy HCemghigafled oros@ &L mg){:mw @{@J@@ﬂm Sjeomi F @urre:rrg) @ne(®
&L s emée nHelle) emeussiLoug eTg)? J

Q)  urdevCasrenswianBCrL_ B)  umellwy,fsGsen
C) sssBIHD D) (A) wpmib (B)

21 029/DD/19
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70.  Which is the example for thermoplastics type rooflights?
(A) Wire reinforced PVC (B) Anti-Vandal poly carbonate
(C) Glass-reinforced polyester resin (Dﬂ (A), (B) and (C)
QsrGlom GeTrevig & aiens Lol igadhE a(ss166T 0 e7gl?
Q)  awrAQeaCuriav® \.e5.8
(B) ey aurarLed Umedl smLGar
(C) sawanmmy eugapl LU L umel eravL i &l e
D) (&), B) whpd (C)

71. How much length of suction hose normally carried in the fire appliances?

v\ 24 feet 5. (B) 20 feet
(C) 30 feet (D) 15 feet
aupssLONE Bit sl euaimguie ereucuaral Herb Faeer Canrev er(Hés GedaliL@bn?
(A) 24 opqser (B) 20 sjgser
(C) 30 oygs6r (D) 15 eogser

- 72. At what pressure Carbon dioxide is retained in a liquid condition in the

extinguisher?
(A) 40 bars (B) 70 bars
wNC) 51 bars (D) 60 bars

STITLIGH el .g,;ﬁssmm@ Sreu eugalled ereueueTey LMT Di(psssHe Swemanmiy s(medlulled
<i(p&d emaussLILL(HeTerg)?

(A) 40 unfser - (B) 70 uriger

(C). bB1 uniser (D) 60 unfsen

73. NRYV stand for?

AA) Non return value (B) No residual value
- (C) Net realizable value (D) New replacement value
NRYV crenuigen eflfleunssid eresen?
(A)  mmeir flL_reom eumedEl . B) CprileasBue Calcw,
(©) Qi Auammaus Gaby D) i M9CaravGinaim’ Caidys,
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74.  What is the general loading capacity of a fire lift?
\AA) 545 Kg (B) 538Kg-

(C) 548 Kg _ (D) 554 Kg
Qungleurs LwT &l sreiauemey erenLuSlena SThiELD s o_GTeng)?
(A) 545 84 (B) 538 44
(C) 548 £4 , (D) 554 44

75.  Non industrial occupancies, floors having not more than 126m? fire resistance
construction of not less than 30 minutes building classified as?

wA4)  Light Hazard (B) Ordinary Hazard

(C) High Hazard ; (D) Extra High Hazard
Cerfpsrame eers, 126 sgr BLLméE G Gedors, 30 HOLsHnE Cud, SWaman
grusts & @UiT slLL S@bly Qerdr. sLLLib @B SWTRT &L LL IS
auamslILIBSsULIHSDE.
A)  Am Geered (B) sngmyenr @) enaned
(©C) st wrear G eareard . (D) Vs Sfsiug wirer @) eneed

76.  Which fixed installation will protect a building from damage by exposure to a fire in
an adjacent building?
(A) Sprinklers \AB) Drenchers
(C) - Flooding system ' (D) Fire Extinguisher
THS auesWITer & UTESTUIL| SienliL] DB o drar sl il S Opmly @snaﬂuurr@ ELpELD
gHu@ L Copsdlel(mHg S lgL S UMESTES na)?
Q)  Gsefllumes B) ygyanQer
(C) Qeusreri@uU(HEE iemwliy (D) Swewemruranser

77.  What fire protection has to be provided to cable tunnels?

(A) Water spray system NAB) High expansion foam in installation
(C) Drenchers (D) Sprinklers
Ga1leT Leimemehs (emés (s ereven & LimgamiL aupmsLILL Caua(BHin?
Q) 87 Qgefiy el : B) 2w dfleurss mer Hmeud
(C) gren@aerr (D) Qsafliiumen
23 029/DD/19
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78.  If canteen is provided in the upper floor, what fire protection shall be provided with?
QAA) Sprinklers E ~ (B) Drenchers |
(C) Hose reel hose (D) Dowﬁ comer
Cué Mgl Csamed @aEHLILLLIGD 6hHS MMSILTET LTGGTIL iUl Blmeuliu
Gauam({Ld?
(A) Qsefllumer (B) gyenQar
(C) Gammev ffeo Gammav (D) Leer sibom
79.  What is the maximum area generally covered by sprinkler in aﬁ ordinary hazard
building?
(A) 21m? (B) 9 m?
VO 12 m D) 7.5m?
GoDHs @enare) QsmarL sLLLSHDEG aaluaa UTLLEES @ aisb B Qgeflumenser
ianssliuL CeuamHib?
(A) 218 ' (B) 9182
(C) 1282 (D) 7.5 52
80. What is the name of fixed installation which has to be provided to vaults, enclosed
machines, oven and container storage tanks?
\AA) Total flooding system (B) Local appliéation system

(C) Hose reel Hose (D) Down comer system

eThG eueaEWTen § LngsmiL) ienolLy, ellane wElerer QummLser CaflbLib, sl L g8l
o drar Quaflansar, geusr whmib Casll &LkiEsErés ullbgimres iuGang?

@)  GLmLe Centigrh Sebe B) Ganssm oiafGasdr AdviLb

(©) CGanmev e Camme (D) L@ayeir amlbiof SjanioliLy
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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST IN THE MANUAL OF FIREMANSHIP
FOR OFFICERS OF TAMIL NADU FIRE AND RESCUE .
SERVICES - FIRST PAPER

(Without Books)

Maximum Time : 30 minutes Maximum Marks : 20

- IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
eflflauner eflent_wefl&@D cuems eflammsgmer

Read the following instructions carefully before beginning to answer the questions.
cflanmés@nse el wallss QemLhiEd e SP&saTL o fle|@mrEmar SaI@IONS Ly SEaLD.

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not. be valued.

eflenLsener @B Harer erameniisamad e 2iflawns arpdulmuidar el ssreflear @miduf o erer
3igle arananflEamsufeorar allenLsar wHUIIH CewiiuLrg).

2. In case of doubt, English version is the final.

eflamsaafier £5CasllmUden gyiifle cugeile Qar@ésiur Herer ellenmésGer @mdunens.

Answer any FOUR of the following questions.
aameuGugib preng Cadred s@Epé@ eflenwaflésajlb. | (4x5 = 20)
1, Briefly describe about Drenchers system and types.
- 1gQrEHET DML LHDILD BIBE CUESHEAT H(HESLOTE GT(LPS)?

2 The flow rate in 50m of 45mm diameter hose is 400 litres per minute. What is the
loss of pressure in the hose if the friction factor is 0.005?

4585 b wpmud 508t Berperw Capradlan geamestt Qeuef® Hll 80
4006l Lir erafler Cammadlen @iwsHs Eolidmen samss® Qewis. Capmeller 19f&eaver Gt
0.005. ' -
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3. What are the causes of decay of Delivery Hose? Briefly explain.

B 600 Eurisaien Samse|s@nse STyahisar e ? s(hHaswns alaufl.

4. What are the uses of following Hitch and Bends in the fire and rescue department?
(a) Rolling hitch
(b) Round turn and two half hitches
(¢) fisherman's bend
(d) Double sheet bend
Swenariiy womd By verflaear giewpuld Lwerum ige o drer Spsar. afllgev WHMHID
Quen_evaatlen 2 LCWTsRISmeT 6YlaTdE? :
(a) Gprelm afié
(b)  peyei Liten SienL- ( aps el Fae
(© GaxrGioerr Gl

@ Lyeral Quekr:
5. Draw and write parts of ﬂook ladder and write speciﬁc_atiqns.
abé CaoL it uL b euenpg LTshisamer LUHH erpg). Cogid 2igear upHlu GHlLLSE®ET erpgi?
6. Describe carbon dioxide fire extinguisher and how does it extiﬁ;guish fire.

amiuenr oL Ysomaw@® SumariG@amer uphl erepg. CLEIb g ey Sow
Simanslng eranigamen alleul.
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